
  

Comparison - contrast 

AX is like BY 

AX and the BYare similar 

AX is similar to BY 

AX is the same as BY 

AX resembles BY 

with respect to price. 

as regards price. 

as far as price is concerned. 

regarding price. 

in that the price is the same. 

in terms of price. 

in price. 

 

Both AX and the BYcost EUR 80. 
AX is as expensive as BY. 

AX costs the same as BY. 

AX is the same price as BY. 

 

AX has a large .......  

Similarly, it has   

Likewise, it has                                                                      

Correspondingly, it has                                                                                              

It has ------, too. 

It also has   

Contrast 

AX differs from ZZ 

AX is unlike ZZ 

AX and ZZ differ 

AX is different from ZZ 

AX contrasts with ZZ 

with respect to price. 

as regards price. 

as far as price concerned. 

regarding price. 

in terms of price. 

in price. 

 

AX costs EUR 80, whereas ZZcosts EUR 100. 

AX costs EUR 80, while ZZcosts EUR 100. 

AX costs EUR 80, but ZZ  costs  EUR 100. 

AX costs EUR 80, in contrast to ZZ, which costs EUR 100. 

ZZis more expensive than AX. 

AX is not as expensive as ZZ. 

ZZcosts more than AX.  

 

ZZ is expensive to buy.  

On the other hand, it is very fast and has a large screen. 

In contrast, it is very fast and has a large screen. 

Conversely, it is very fast and has a large screen. 

However, it is very fast and has a large screen. 

 



Although ZZ is expensive to buy, 

Despite the high price of ZZ, 
it is very fast and has a large screen. 
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